
 SIZE
A3

DRAWING
 NUMBER 316-85630

 

REV.
ISS. 1 DO NOT SCALE THIRD ANGLE PROJECTION IF IN DOUBT ASK

UNLESS OTHERWISE                         TOLERANCES: - 0 DECIMAL PLACES ̀ 0.5    

      STATED: -                                                         1 DECIMAL PLACES  ̀ 0.2 

                                                                              2 DECIMAL PLACES ̀ 0.1

DIMENSIONS ARE IN M.M                                                       ANGULAR ̀ 1~
DRAWING
 NUMBER

REV.
ISS.316-85630 1

SCALE

SHEET
1  OF 1 

MATERIAL/FINISH

THIS DRAWING IS THE PROPERTY OF
NEWALL MEASUREMENT SYSTEMS LTD.

THE INFORMATION THERON MAY NOT BE COPIED OR USED
WITHOUT WRITTEN PERMISSION

N
Leicester England

TITLE
LATHE HEADSTOCK & EXTENSION ARM

DRAWN
DATE

john.d
04/03/2009REV.ISS. DATE C.N.No ALTERATION

Parts List
DESCRIPTIONPART NUMBERQTYITEM

LATHE HEADSTOCK MOUNT ASSEMBLY600-8412011
EXTENSION ARM ASSEMBLY600-8414012
CABLE TIE-53
M10 NYLOC NUT-14
NYLON WASHER-25
M10 x 60 CAP HEAD SCREW-16
M8 x 35 CAP HEAD SCREW-27
M5 x 25 GRUB SCREW-48
5/16-18UNC x 1.25 CAP HEAD SCREW-29
M4 x 8 CSK SOCKET SCREW-210

Parts List - Kit of Parts 600-84123
Item Qty Part Number Description

1 2 086-12030 M10 x 120 SKT CAP HEAD SCREW

2
3
4
5
6

1

2

4
1
2

064-10250

104-11079
104-10410
294-95080
294-95090

M10 NYLOC NUT
M10 NYLON WASHER

M10 FLAT STEEL WASHER
SPACER
SPACER

A

ASSEMBLY Pt. No. 600-84125

1:4

FIXING POSITIONS 2 Places

JACKING POINTS 4 Places

FOR HORIZONTAL FACE MOUNTING

JACKING POINTS 4 Places

FIXING POSITIONS 4 Places

FOR VERTICAL FACE MOUNTING

CABLE MANAGEMENT SLOT UNDERNEATH ARM.
PASS CABLE TIES THROUGH SLOTS TO
SECURE CABLES.

CABLE MANAGEMENT SLOT
AT REAR OF HEADSTOCK.
PASS CABLE TIES 
UNDERNEATH TIE HOLDERS
TO SECURE CABLES.

3 9

8

1

6

2

5
 

7

4

10

9

ALTERNATIVE FIXING SCREWS
5/16-18UNC x 1.25 CAP HEAD

CABLE TIES FOR CABLE
MANAGEMENT

EXAMPLE OF CABLE
MANAGEMENT

METHOD.

ALTERNATIVE MOUNTING METHOD
AND FIXING KIT TO ENABLE FULL
ROTATIONAL MOVEMENT OF ARM.

1 2 3 4

5

6

1 2-7-09 ECN9089 Fixing kit added for alternative mounting method.   JFD


